W)=

SEH

Em%?%@%;ﬂ gO0oOd1700o0ooooo
% @ =¥ BEE® A E & T
N “ wheE \ _ .. |0 000
'R F S 2?*&%% ~Eg5$¢ 33.75)%]%054?.5)%% 42.12)%7%39)?9%8)%63\ cBUlcwgg
BERE 59.288 %) 59.2884) Droo
A =X ) 5 =i E Dl g B
6 B 1.408%) 0.708% 2. 1084 ggoo
HAK - BTy 1288 1.608% 0.758% 2.358% U000
&t 3.008% 1.458%) 4.4585) pdoo
B _EDERRE. BFEDERICKDINERER E g B E
= == N = = 7N
| L 80,5000 (RAEBTIS T i R
Ofc{813, 0003 So0on
wow 7 oo GRERR 1%5%%%%&6,500% 3ABENS 1 A5,000M cBU % § 23 %
¥ 16D Do & CDF 1 AICDED, 000FNE&E Ooooano
B F % OBROEAREIISLTI0~27,008, 8 OBEDESAES5,000, B PPRED (0 w00
4%9%%?%%;(;3m’§[5t\ Bk TR, FRRSOBRECEECHETIREICX 2000
wramFa | 0 e TE2 T E S memmenmo s o FumL D E UL, | B B B 5883
RAEDODFHAOHBIFRHBDES D TT,) E g g E
= g BN P v -
EEm | O e man 0% EE 8% = s 33000
BN F Y| BROSHBEEEBR COB USSR L@UL|00O00
EFHBBFIOINR L onuoonn BSRINA LD RIBHDHR
= w0 X @ KR X5 | 8FE| oFE | 0FE | e | 2gE 1w | uEE | 5eE | 165 I
By | = # = #4=EmT | 97.2| 97.6 99.1] 97.1] 96.6| 97.6| 97.6 98.0] 89.2
M#E 2 F %[ 1@ | E=6m50% @8E10% | |\ F87 | 97.3] 95.0] 95.3| 95.6] 95.9| 95.8] 96.0| 95.8| 92.7| ®
@F #fi F | 18 | EH0% BHE0% | | =887 | 98.0| 97.2| 97.5| 98.6| 99.4| 98.7| 97.3| 97.5| 96.2| @
Q) M RIEEFY | B2 210/ | |geT | 97.5| 98.0| 98.0| 96.6] 97.9| 97.1| 96.9] 95.0| %2.6| @
(@) FIEBEEEETY | 0% 210/ | | #LAN [100.9] 98.0[ 99.9(100.5[100.4| 99.9| 98.7| 99.3| 98.3| ®
(6) E & R F Y| B8 1,350FF/ | |:=5087 | 98.3] 98.9] 98.7] 97.2| 97.9] 98.6] 99.5| 98.9] 95.5| @
(6) BAESHEELTY | 0% 210 | |xtgm7 | 98.5| 97.6| 97.8| 98.6] 98.0| 98.4| 97.8] 97.9] 5.8/ ®
(7) FEARMBIEETFY | BEE 2,000 | |tmzEey | 94.9| 94.7| 95.7| 95.8] 97.0| 97.1| 98.1] 97.0] 93.9| ®
B WEEENFY| 1O | 1,700MH~6,800M 000000000000 0000000000010000000000000000
goddoooooooo
xEEE DFEHES DR
X N 13&E 4EE 155E 165
B OB EBRS | B K | EHR5S | B % | £ERS | & B | EBes
FE0MK 10 OB 2S5 (3,123,204 | 24R- 42 3,313,819 | 24%- 525 | 3,331,634 | 24} 6 =&
A0 F2A | 34R 824 | 4.611.850 | 44k 65 | 5,029,033 | 44k 724 | 5,040,885 | 4%k 8 SfF
BRI Z-F2A | 6%% 95 | 6,774,257 | 64&- 1154 | 6,910,682 | 6% 1224 | 6,676,145 | 64k 1324
EEMIS0E FoA | 65R 172 64k 1824 | 7,769,010 | 7 4% 1724 | 7,788,697 | 7 4R 1824 | 7,820,768
SRR = 7451994 | 8,468,523 | 84} 1624 84k 172 | 8,396,873 | 84%- 1724 | 8,361,237

\ | 1 oooooooooooooooooo
& " ] }




